43720
43721
43943

ORoco— Ersaizteilliste
. Replacement Parts

@
gz Text Art.-Nr.
1 | Haftring 85614
Traction tyre
2 | Zylinderkopfschraube M 2 x 6 85672
Cheese headed screw M2 x 6
3 | Zylinderkopfschraube M 2 x 10 85675
Cheese headed screw M2 x 10
4 | Ansatzschraube M 22 x 8 85704
SetscrewM22x8
5 | Druckfeder 86202
Compression spring
6 | Schneckenzahnrad z=17, m 0,4 86413
Worm gearing T=17; m 0,4
7 | Zahnrad z=21; m 0,4 86414
Gear T=21;m 04
8 | Schnecke m0,5 86702
Wormm 0,5
9 | Schneckensatz komplett 86978
Worm set assembly
10 | Kardanschale kurz 87152
Cardan bearing short
11 | Kardanwelle 87211
Cardan shaft
12 | Zuristbeutel Kupplungen 89240
Bag with couplings
13 | Standardkupplung 89246
Standard coupling
14 | Radkontakt 89856
Wheel current contact strip
15 | Radsatz mit Haftreifen 90386
Wheelset with traction tyre
16 | Radsatz 90387
Wheelset
17 | Kupplungshalter 93131
Coupling holder
18 | Schneckendeckel 93133
Worm cover
19 | Getriebekasten 93150
Gear case
20 | Getriebedeckel 93151
Gear cover
21 | Getriebeboden 93152
Gear bottom
22 | Drehgestell komplett fir 43720, 43721 94291
Bogie assembly for 43720, 43721
23 | Batteriekasten komplett 94292
Batterie case assembly
24 | Drehgestellblende komplett 94298
fior 43720, 43721
Bogie frame assembly
for 43720, 43721
25 | Leitung 94299
Wire
26 | Treppe 94300
Step
27 | Kontakthalter 94302
Contact holder
28 | Schneepfiug 94319
Snow plough
29 | Gewicht klein 101100
Weight smalf
30 | Gewicht grof3 101101
Weight big
31 | Grundrahmen 101471
Frame
32 | Zurostbeutel fir 43720 101476
Bag with accessories for 43720
W33 | Zurstbeutel fir 43721 101486
Bag with accessories for 43721
Blatt 512/2

Page 512/2




